FEB0E IR R e LB R FHERES R BRI ERAR Y RE TR RS T FE52E RN —Y

EIRAZ T 5 [41020]
2025/07/04 ~ 2025/07/06

£FE4 [25040002]

B
4 AT % R R BT/ AR
& E R
A A 147 2fi 3fi Afiz 5 6fi7 7HE 8fir
TH5H £ F100m(B) K wEQ2) 12.53 | feAECR:2) 12.62|HI —3EQ) 12.81|fA LE®B) 12.90|R#H HEQ) 12.92
08 B A E R BOER HOE HOE = I R e e
1858 42 100m(A) HE 41EB2) 1197 |43 SEHE4) 12.10|#efE HhAv(3) 12. 14|30 E0ACRED 12.19|RA BR12) 12.23| e Ri2) 12318 BERA4) 12.46|5¢ 5 FEEQ) 12.61
f:-0.2 e RAER OB tEER El s e d =P HORlE—& B ORI  E E E 3PN 1N B OR-E B RER
1A5H EB L F100m A 230 1248|578 HESR(1) 12.57 | HGfERk 3(3) 12.58| 4% w1 (1) 12.72| i feE (1) 12.79|F R EREU3) 13.00| 4 [ (=Z(1) 13.00| /5 #EE(3) 13.12
Al e ddbs B Al F R B 3R-EdeE T B OR-lEE R B O ER—m i 3%-STARTLINE B WA TR B R T
1H6R <547 100m i EE 13.59(0.0)[ )il @GEts)  13.70(0.0) [N ELAy 13.9100.0)[fex A SHEEG)  14.290.0)|[ A #4 14.57(0.0) [ L3 15.270.0)[ A T Al 16.03(0.0)[ T3 &1t 16.35(0.0)
] R HBRRETEC HOWCRHE B IR HRETEC B3R/ 3R B OISR ETEC B OREEEEER B ACHE BV E S SRR
TH6H 4 7-200m e EH®@) 2479 |FENE MELE(4) 24.92 (&M FAv(1) 25.09 [#BA47T SEHE(4) 2518 (BB BR(2) 25.62[#I5 FA KD 25.80 5 EA(4) 26.04
B4 H O thR OBt B OIR-hR ORI HORlE—& R PN B RIRRIER
THan AL 300m YR—Z YT H(3) 40.58 411 TE5(3) AL1L R DAR3) 4143 [ET shEHi(2) 42,49 H FAT(2) 42.89| 58 FAE(2) 44.66
] B R & R RAE SR BBk B Bl H R B OR-lE E R B ORlE
A5 41EB2) 38.89 (&M AN (1) 39.27
TH4H PRAE 4 F-300m B e sk B etk
1A5H S 100m il GHECR 1) 57.28|Hifl 1&HI(3) 59.22|FiF T(B2) 59.45 |7 5F  BIEA(1) 59.75[1KF 0(2) 1:00.00|FE+ S Hi(2) 1:00.56 25 B % 16(3) 1:02.56
B OeilE B R R & RPN BBk B B3R )R B OR-lE R B IR AR
1H6H +7800m KFE (2 2:19.43 |1 FLRE(BL) 2:21.05 |/ DE3) 2:23.21
B E & l-gdek R aralle LR
1H5H S1500m I A T5(2) 4:34.45 |04 4 BECRF:1) 4:54.65
ORI I R EFS
1H5H BT 1500m A L) 4:35.01 |5 <H2(3) 4:49.95| 5 PInH(3) 4:55.80| 6D HUNFA(1) 4:57.33| KRB AR (1) 4:57.88|1EE TZR(D 4:59.95| EA AhFE®) 5:05.48|HH #R(3) 5:08.07
Bl H AR e ST B KA BB B3R 3 H O LonLah R R L
— A 3000m WT L V=UR) 9:19.92[85K HDA(2) 9:48.02[# )1l 2%(3) 10:23.32|#1L1 FHZ(3) 10:25.07|# 1= #F3H3) 10:54.20| 1)1 #50E(3) 11:00.26
Bl R Bl F R O Hdbs O Hdbs E =N B3R AE R
- S Z5000m IR A T2) 17:22.20[/NBF <5 3EHE(3) 17:28.70 | &% AhdE 18:10.49 | K111 FHA(3) 18:14.52| 77y BE4(1) 18:27.55| 8 2 H(3) 18:40.64 | | HEH®G) 18:44.74| 85 1E(2) 18:52.59
B E H W AEHEX E b H e sdbE H e ABEER H OB HER ER =N A B IR B
— e 10000m e EX 41:10.60 [k #3 42:29.82
B B ETEC B EkE
1asn | ET00mH10.838m/8.50m) | Rl METE() 13.79| Vit i (3) 13.96| it A5A (3) 14.24| K5 JAQ) 14.61| )7 Z(3) 14.79| &l % (1) 15.29| i 125 15.31
B:+0.5 OBt R B AR B I AIPN B OB O ER A B3R AR B O LB
. DAL TR SEACEL(3) 44.14|%% Q) 46.14(FF 1 HEF(Q2) 47.35| i 135(2) 48.01|1LAS Ek(3) 48.58|fhik SEEE(2) 48.87[% WIKT(2) 49.96 T4 #4&(2) 50.19
300mH0.762m/35.00m) |5yl e — O R R & B H R B AR B B3Rl R B3Rl B3 RAE msE B3R E
1768 | % ra00m091am/35.00m| | T PTED 59.60#f Lk 1:01.59 |7k JALE() L:0L.88 (R AME(3) 1:04.43 % L AREG) 1:06.28 /v HEFR(1) 1:06.91| ek HRz: 1:09.95|F L FERE(2) 1:11.77
) AAT EE QIEPN B OWeER S R SN it B O SRR BRI bR H e lE R
TRAR | A 72000mSC0.762m) | 0 EAE) TILTA\ERE () 7:29.89| HUEA AHT(2) 7:40.18(RER HAGF2) 8:06.43
Al R B ORlS = = B OWeER S
A Veg #i(2) 11:47.98| T4 EAHAE 12:24.48|#Hf FieCc) 12:36.06
O = PR ATy N T A) - RN
. HF5000mW T H3E©Q) 23:43.17 |2 K BifE2) 27:01.12| % & O/TH(3) 27:15.78 |/l =5H(1) 28:07.52 /&M R E(3) 28:21.49 (K21 ELA&(3) 30:09.32
ER PN B ORI B KR EE ) | I B O E E Sl Sk B3R BB




[IIN=PN 47.60 | FAEA S 47.60 |l — 49.39| =R — & 49.44 [$E H & 50.19|HALF K 50.63|filia 50.79
FKIE FVAKEFD) YnR—=2 U7H(3) I —HQ) Vek feer() K 96 (EE3) fikg A g et @)

TH5H ££-4X100mR ARH R CKFML) i HRQ) e B2 R FKxUH3) TFHE MERER2) A &) ()
Ve i AECRF:2) i B 2) W DARQ) [ B A ZR() TR S<H(EER2) R B R(3) OHiE 99°@)
iR CN=a)) G 1EHIB) A PRAR(1) R PHER) R SR (RR2) IR RHEG) WK EAE2)
FMEARE LR 3:57.28| B 4w 4:01.54 =R — & 4:09.75 | B AN R A:14.17| )1 R 4:14.81 il A L 4:17.27 [l 4:19.03 [fili5— & 4:19.79
G 1&HIG) JEAR SRE(1) [ B A ZR() A THIR) il 2iIEB) Bl i) (L) HH —HEQ)

TH6H Z-4X400mR YR—2 U7 F(3) I SEHL(2) Vek fEe() B BE(L) A Zk(3) TR EAE(3) K EEQ) W LARQ)
i B xE3) Pefk 15 5(3) TEE AL H(3) AN OVR(L) THE W& i HE(3) et @) SR PRAR()
il H&RQ) JEF HELI2) g EAR(1) ) THE() KFE () Ve HOAB) Kikg O7272(2) KA A Q)

Ten PRE— KFE Hib3) 1m62|ite 7= FEX(2) 1m62| B4 AIEQ2) 1m59|/ B 2 (2) 1m59|H b #EFK Ims9| % A1) 1m56|4E)11 L HEEB) 1m50 [ FH T FHE(1) 1m50
‘= K -RISING el s OIS E R R ER & HOR-EREE /T B3R R i IR-RISING B R AlE T L
SR W Ok3) 3m20 |tk HiSEV) 3ml0[HH 25(3) 3m00 (5| (1) 3mO0[KAH  FEF-(3) 2m80| f 1l B (1) 2m70 (BT 3E A (2) 2m30

158 SR (EaE R (INEPN B eIk OB B R Ol R B S O E R RG]

' JIlEgE Hi) 2m30
" ORlE =5

- P A ERCCEMD  5m84(+2.9) |2 A BIAAE  5m83(+0.7)| =i ALY 5m69(-0.1)|sHE Hiid 5me6(+2.2) | E /NERG3)  5mBA0.7)|[EHE AUB3)  5mBSH+L8)|A AUBQ2)  5m33+LA)|[FEA FEEQ)  5m24(-0.2)
R A 235m1800.4)| B - L--LHYT e bEEUT EOSREOED ARGnsI000|'E b BOARASEE BB ) BB ERA R RN E PN

- - AN A (D) 5m22(-0.8) [ FEH )  4m80(+0.2)| 1K AWM  4Am74-0.)|4 )1 THED)  Am70(+0.4)[JEEE FFEE(L)  4m50(+0.3)[HHiE A1) 4m28(-1.0)
B R E N4l O HAE BBk B BHOBelE O

1Hen F—— B /RG)  12m06(+1.6)[ i HEAH(3)  11m60(+2.6)|@iff Hifi 11m56(+1.2) /N A1) 11m24G1.8)[#iE AUS(3) 11m08(+0.4) [xhs sskm(rite2) 11mO8G+1.3)|/\j FFH(3)  10m81(-0.4)|4F%F i~ 4£(2) 10m76(+0.9)
B R Bk B iRR ARImstLO|E bR E kR [ Rt v Nt R S lIE *FO|E Il S8 H O A ER s s

- T RAE1.000ke) EE BEER) 12ma8 [ INjiE A 3E(3) Hm71|5E% i#(3) 11m43| KB ZE4(1) 1Im19[RJI Hi3E(3) 10m46| T3 03E@3) 9mO7 T3 MEV(1) 8m27
B R O BB IEE R R Sl i O BARER E BRI BRI

1H6H 7 EEL.000ke) WEE THRER) 41m43 [EE  FHEEER) 40mO9[RFE 7 (3) 39m17[dl DIEE) 38m78| K1l HiE(3) 34m45| T FL7-(B2) 32m04 (ot FEFE(1) 31mB9 | #VEE() 30m78
RPN O A O EREE K EOSRef4 H s E Gy SN RPN E

e I — FABF REBOR4) 48m46|fA B3 4Tm74| T3 LEEG) 44mO2 | % 5 5 (55 H3) 41m12|kaili BRBAGRFE2) 3Tm62 (K B 35m80 |14 HAE (K1) 35m58 | Hhff A1) 27m80
E SIEPN O WK BRI R A A R R O

sk ST 000D Flb wAv(4) 46m18| A HRLN2) 43m62| R4 H(3) 40m91| & L #(1) 37Tm67 [ LR3) 32m74

H e

HOBBRERK

H Al E

H OB R RS

B AL

JLBI *F9:3% B DFLERIZ L DAL




